e D,
AR M\ :

(f‘ R :
A) The fevce oh‘wym :)Cof C)\Mgf, o @ Fomlc

" ?Z' whove Fo e )co(cbb(;l'/ Q\\ﬁ(% ; ;:_ S M ng("(’

4_’-—-.—'"—"

15 ke Ahe fv\\O*)WV\S‘&

Q 15 wh Q’cm’(\‘mwj (hoke, , honoe we how@
F, il e
= - k @‘\ok \;L O‘L (/ [TP%S )

B\j (wtm\))S Ly T i (D‘,\/)
Then we hwe e Substrake e kg *)
\Q/‘\: l—Q’l’L‘_)-;\ LUOJQK; @20, QL407 %40)
D\'L (D|f

i et D L

b) /}\9 P(‘;ngkxm(, ]L@Y CVW%/ O %((9\2— m{f yw&, R s 1@9PLLJ<\/(/(A&
Ul D Ve - Lt </’\’ P’tﬁ

/ S

>

[‘%“.@\Lfobu[_ Yo’ce-«\km\ enery) fad 08 2090 ok B, Yen s

.?.v-’(e/a&iov\ B2 bAte 2tr0.

C4Ppts)
k@, |



V\J e aus b ouse tlo ‘€"\°’f st Gy ”W“"Q C. M
= be tir  branches. For u‘f&c"(‘”rs e Series, e

C“ 25 C"‘ s C1 C‘l.

e, ok T
£ nd CE%A , we use '{—ac}c that +the C ¢ Al
L. e capacitece A pars Hel, we add  H0c = Mrag-.

C""C,= 26,-; ALy
o e

4

-
e
E <yl ﬁ
v







70&-&0\&?@}\ ’F”d‘gtj' NF%I*"°‘\) o hhak A b
we  bula\ up be etuivalest Qo dhat which SEaRE e

"‘bk,e_ *\‘Ufb\ao.ewx. ;

/Q CQO‘\O‘Q"% ‘o ~the “;.,‘\.-\‘vax“t<>g'«\ﬁom ”?«(\.MQC\D‘QQ, W Can m(

; ‘bhﬁ» @QQCﬁ{‘TC .h’:eQQ\S Cn‘(l‘f‘[bcﬂéo\ L// L & S C,Q[.’ae\c\actegly Qﬁﬂ}‘ .

e "\ a ki‘)’ :
/

ke, F- Lrelol olisAtibvction fustnia]

. _au_ewima we will a—fkﬂ/ this formula
SL : ,{7,“-{ {er A we wilk be more THuskrekive )

*




ow afe <v/ﬂ23$z¢¢d < C»{‘Q_(\FVQ. the electrie o
3?‘&*&*\ '\\2 apply "“ES Gavsa's Low, msteasl
sl oown Aireck - -




Wangly recommend that you sketch the path bof
1gh the field.)

cwfged particle Wi +h Ue\oa‘ra_ Perrevd(calap
B will Ulvlc{ergo dmform circular  motion,

D

| In oder o keep +he parfide tside the E
| wzR.  (whee K 5 He rechius
j

Thevetoce.

Take w to be equal to the smallest w that you obtained in part a. How much time,
T, does it take the proton to travel to the top edge of the regions? Express it in
terms of B, m and e. (If you cannot get part a, you can express your answer in
terms of w as well for partial credit.)
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